SHISEETHITSREEZOSHMSE

SR TR T S MEIDEER2(L -

EaPEE

w5 iE2(8A-9A-11°)

Y= CH

fEElF
U !

=]
EWR40~755% 40-45-50-55
POE R ST ES = (Y] 40kl £ 40 & 40mR A & 60:65:- 705 C 20 LD 4055 L LD
*3 30~39%EE B === === SFET—EDL 1BEERDLE 1B ER D%
FR40mLL E 2T TULVRLA
*ﬁgﬁgﬁ 10,175M 6,600 1,870 2 145M 2,640 7,700 5,500
2 = 5 &
B = " 1

MIATS 3 DRB (IR AIRL) SREET . KB ARBOH1IADR B D E A, KOWREMIDHEIA31 AR ATOFENFRTT,

@5&---%7:3 6,630 Hﬁﬁ%(:%é‘/} CEFd |

5]

XH
2

B 1) EURS0imDIEDTTH TN TDR(IR) 2%

BI2) MRS ORDBEEDIT N IR TOBABRBERL T DLk 1 0 z 6 1 5 Fa ﬁzlis%( 2 TCEET |

REBHIAED 23] (COZDFD s BERFRRREZEOSG UL (3HEFE0173-22-2111THIATEEXT |




